Quiz 7 Calculus 3 11/14/2006

Each problem is worth 5 points. Clear and complete justification is required for full credit.

1. Compute | F-dr where F(x,y) = (3x’y + 2, x’ — 2y) and C is the arc of a unit circle centered
3

at the origin traversing counterclockwise from (1, 0) to (0, -1).
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Compute LG -dr where G(x,y) = (6xy, 2y%) and C is the arc of a unit circle centered at the
origin traversing counterclockwise from (1, 0) to (0, -1).

(P.
:{?(ﬁ')-; { eos% ,‘v\f\'('? O L4+ /:‘?“’i _{:hr
. S JE
U’l’q

Fe ) = <Lp (st SNk 25”\1-{>

¢y = <‘€w\+l tas &5

Y CLEGhn & Bl

]

3
7

clt

L ok §ins ) P& 5t nek) el

2o
(oz flp st SInTE T Sin ARt

3«m g | - (7"“& du:-
(7 - H ot (e 86

s .
{ & o



